DO NOT OBPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO 50

T.B.C. : XVWS-D-GNL Test Booklet Series

2.

10,

Time Alloeed ; Toiso Howrs

TEST BOOKLET
GENERAL ENOWLEDGE

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHORLD CH THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNFPRINTED OR TORN O MISST ®s OR ITEMS,
ETC, IF 30, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidote's responsibilicy 1o encode and fill 1
Booklet Bavied A, B, U or D earefully and withoot any omission or di
places in the OMR Answer Sheel. Any omision'discrepancy will
refectlon.

You have to enter vour Boll Number on the
Test Booklet i the Box provided alengside.

DO NOT write anvthing efse on the Test Booklet,
This Test Booklet containg 120 items (guestiona): Each {
Each item eomprises four responges (answaers), You g
on the Answer Shest. In case youo fesl that thare

response which vou eonsider the best. In any ca ¥
You heve to mark &ll your responses ONL ]“'C

mher ond Test
at the appropriate
swrr Shest linhle for

¢rprinted both in Hindi and Englich.
the respenss which you want to mark

than one correct response, mark the

ONLY ONE response for sach item.

parate Answer Sheet provided. See directions

in the Answer Sheet.

All items carry equal marks,

Before you procsed to mark in the Ans

vou have to fill in some particulprs g

Admizgion Certificate.

After you hove compléted filling 8

coneluded, you should hand oy

wway with you the Test Dagk$

Bhesta for rough work avg e

Nycet the response to various items in the Test Booklet,
newer Sheet 48 per instructions sent to you with your

aWwffar responses on the Answer Sheet and the examination has
he Invigilater enly the Answer Sheet, You are permitted to tuke

Penalty for wrong '

THERE WILL BE " FOR WHONG ANSWERS MAREED BY A CANDIDATE IN THE

OBJECTIVE TYERaGMESTION PAPERS,

i1} There we lternatives for the snswer to every question. For each guestion for which a
fas been given by the candidate, one-third of the marks assigned to that

e dedurted as penalty,

te gives more than ene anawer, it will be treated as 8 wrong answer even if one of
anawera happens to be correct and thers will be zame penalty as above to that

il

question is left blank, Lo, no anewer ie given by the candidate, there will ba no penalty for
that question,

DO NOT OPEN THIS TEST BROOKLET UNTIL YOU ARE TOLD TO DO S0
T E ¢ 2N (B SR §E (R & @I T o § |

XVWES-D-GML (40 -8



1. Which ons of the following elementz ik
a non-metal but is lostrous P
}‘ﬁ Carbon
(by Sillcan
{el  Germanium
il Ipdine
2. Whirh ene of the following metsls haes both
malleability and ductility properties 7
) MNa
b An
2 e
idy Hg
3. Weare given three copper wires of di

lengths and different areas of crod

Which one of the following would i

o

25 em length and 0°56 mm

resistivity 7

ta) Copper wire of

thiameter

of L
5

'___,'E__'EE (i Eu@er

Dfi'-l1 ;
di R
}5?@5395‘;
e ——
wpe?h L‘@a wire of 10 e length and 210 mi
ol
1Emeter

"r[gj All the wiresa would have same

VW S-D-GNL

resistivity

¢

o, Which of the following statements about

Tasion 15 correct 7

1. It is related with the creation of new
imdividuanls by means of el divigion in
unicellular organiam,

2, It iz related with the transform of
heavier nuclei into smaller nueger :

3. It i related with the @nn of a
heavier nuclei by ||i® combining

two higher nuclei.

*

Select the correct ing the code given

holow ;
fa) 1M 'r@
ikl L

rid 2 only

@g 1 and 3 only

Which one of the fllowing iz an elsciric

conductor 7
{al A plastic sheet
{b)  Distillad water
der” Humon body

idl A wooden thin shest

A pop-spherical shining spoon can generally
be conszidered a5 a

.J'Eﬁ{ Spherical mirror

(b} Parabelic mirror
ey Plane mirror
(d} Lens

(3—-B)



T Who amongst the Tollowing Is & piobesr in |10, ‘Sleeping sickness'is caused by

discovering the heating effect of - eleciric {al Trypanosoma
current ¥
(b) Leishmania
{al  Isaac Newton
(e} Plagmodiom

(b Gralilen Gahilel
idl Parsmeciom

,,':'f':' James P Joule

(i J.J, Thomson 11. 'Which one among the fellowing is
animal?
B. Which onme of the following |ews of igy Liver fluke 0
alatromapnitizm doee pof gve the dirdetion *

. eyt by Wuchererio
of magnatic fzld

el Flasmodivum

L&t Hight-hand thumb rale
L 3
ol Fleming's left-hand rule
gl Fleming's right-hand rule 12, Whic ‘the fullowing is the atrugture of o

: . / o
id)  Forndays law of electromagnetic srle cell

induction Crlindrical, Tmbranched and

@ Multinuelents

thy  Spinal shaped, Unbranched pnd

Uninueleate

L1 ] An antibiotic &8 not cseful agoodst o vi

whereas # veccine |50 Which one

following is the most appropripte

this ¥ (¢} Spinal ehaped, Branched and
(a} Amn sntihiotic ca t@ oA only, Uninuelesnts
Whersai-yins lm.‘-‘-é idi Cylindriesl, Branched and Uninucleate
(b} An antibioti ‘hohydrate in its
chemicnl whereas & vaceine is 2| 18,  Which one of the following naturally ocourring
F*T*-"“'-'l’b orks well te ldll a virus, peide is found in abundance in tomatoe 7

el OndgWNraccine can break the genstic (o) Aicatic acid
\i' | of & virus.

AY yvirug does not use bischemical (b) - Citric acid

pathwavs which can be Blocked by an _:4?'" Oanlic artd

00 antibiotic.. But 'a vaccine can boost an

immune system to fight the virus, {dl  Tartaric acid

MW S-D-GhL (5—8)



14.

fire extinguishers 7

{a} Sodium chloride

-

b
D

Sodiom hydrogen carbonate
Celeium hydroxide

ArETe & I,.J{E

15 Which one of the following sodinm compounds

iz used for aoftening hard water ?

5( Na,CO,

(ki NalCO,

ey NaOH

(dy Na S0,

O
oS

16, Caleium oxide reacts vigoro '.-.-nk_'r o

produce slaked Timo v t®n i3 used for

white-washing walls ed lime veacta
to form a thin layver
‘.?E a-shiny finigh. What

Chjand (B ?

with r.:nmpnnent i

of componen
*
{al 0
0 | A-0,: B-CalDH),
0 idd A-CO,; B-CaCO,

XAWS-D-GNL Eﬂ 05
T

: B-CaC0,

(v

==

Which one of the following is used in soda-acid !1'?,

How many internal reflections of Tight take

place in the formation of primary rainhow 7

iar A

(o More than 2

IB. The direction of umn]er@ m uniform

circular motion is aleng

(el direction ofghn
b} toan circle at the point of
Tt
i
{eh won of velocity.

@ direction perpendicular to velocity

The weight of an object iz due to

& the net force acting on it.
(b} the total of all forces acting on it
irreapective of their directions.
{c)  the force that it exerls on the ground, °
id)  iisinert property.
20. The size of paricles being studied in
‘nano-technology” is about
fal 1A-10nm
(Bl 1-100nm
ey 1-060u
(1 mm = 10 mm
-8}



21, Which one of the following is correct shout| 25. The Luhri Hydro-Eleciric Power Project is

Pinaka' ? being conetructed on the river
(a)  Itis a multi-barrel rocket system, {a)  Satluj
b} Ttis atype of battle tank, it Beas
Lcd It s an advenced submaringe., (el Ravi
d) It iz an indigenously developed drone idl Chenak
gvstam,

22, 1|‘1i|'-|'.l:i':h one 'ﬂfﬂﬁl} I'ni]uw:ing is rol B mpmher ol m" TARAT Hﬁ]'IF_!EEdEEh 202X 'DQIL I'IE"-'ﬂl

the Quad group of nations 7 exercise between Bangladgsh

*
ia) France {a} India
bl USA (Y TUBA
€' Australis (e Jab@
idy Japan (d) @ A
23. The first phase of Exercise Malabar, 2020 was 87 112 Shield Force iz 8 military arm of

conducted at
#i  Organization of Islamic Cooperation
{a) Port Blair

thl Organization of the Fotroleum

(hi  Mumbai .
Exporting Countries
(¢l  Visakhapatnam
{g] Gualf Dnupt-mt'mn Coune]

td)  Kochi &
S |

24. Haollywood acbor Sir S anery, who disd
recently, was p@; Enown for the |28, Which one of the following ships was involved

portrayal n&lh@
L) Hﬂp&\

(b Jack Sparrow i) INS Vikramaditya

Arab League

in ‘Mission Sagar - [T" 7

a) INS Shakti

) Fminator (2]  IMNS KEegari

@n James Band idl  INS Airavat

S-D-GNL (8-B)




29. In the year 2020 which ope of the fq'l_l_nw;ing 3.

tiger reserves of India was declored by
UNESCOY as & Bingphers Resorva 7

(a) Panna Tiger Reserve

(b} Mamdaphs Tiger Bessrve
(g} Dudhwa Tiger Roserve
{d} Pench Tiger Beserve

30, The HKaleshwaram Lift Irrigation System,
which was in the news recently, is constructed | 34.
in
al Ferala
ibl Gujarat
(¢} Telangans

(d) Maharashtre

31. Cell wall iz not present in cells of

o)

ful plant az @

(d] Humasans

32. A child receives & ¢
birthday gift from
father asked k
whether $hi

both tl:&(- Nrents or one tall and one short
parent MWy She could verify this through

Q;-mriimmlnn
1Y pelfpollimalion
6 ¥

r with- s guiz. The
ghe would verify

tissue culture

Wi
0 (d} megative propagation |
XVWS-D-GNL

ant was the progeny of L6,

(11-B)

A student was deing an experiment on
increasing the cell division among plants. Ehe
asked her supervisor to suggest the specific
plant hormone for the same. Had you been her
supervisor, which plant hormone would vou
supggest 7

(8} Abscisic acid
ik} Gibberellins
gl Cyiokinin
(d)  Auxin

O

Which cell organelles hale t!g-‘:r own DINA and

Ribnsomues 7

(@l tif®azimie Reticulum
{h) ‘ d Plastids
el > d Golgi body

and Plastids

iz the process of movemant of water
cules from jts

higher concentration to its lower
concentration through a cell wall,
(b} lower concentration to its higher

toncentration through a fully permeahls
memhbrane,

ic)  higher concentration to itz lower
concentration through a fully permeable
membrane, .

(d}  higher concentration to itz lower
concentration through a semi-permeable
rrErn birane,

Growing of two or mere crops simultanecusly
on the same field in a definite pattern is
known: as

fa) mixed eropping
(b} inter cropping
_leY

fdl  hybrid farming

mixed farming



av.

40,

When we heat lead nitrate IPBINO L] in o (47,
boiling tube, we observe the emission af brown
fumues. Which one of the following is the brown
gas 7

{a} NO
(thr  N,O,
{© NO,
dy  NO,

Which one of the following substances do |
silver articles react with_ that makes the erilwr!
articles hlack 7

f =ulphur
bl Oxygon
(e Carbon dioxide |
(d}  Phosphorus

Match List I with Liet 11 and salect the correct
anawor using the code given below the 1ists :

Ligt ] Lint [T
FAuthor) (Posfical umrkl
A Brindavan 1. Shivasanbkirtian
Das
B. Krishnadas 2. Chandimang
Eaviraj
C.  Mukundaram 3. Chads It

Chakravarti

D Bameshwar
Bhattacharya

4.%&.112&“,4“."
{ L
SR
D

Cod

L)

—

k) 2 1

n'no 3 2 4

1 2 3 4
Which one of the following metals js kepe @

immersed in Kerosene oil to protect it and -
prevent accidental fire 7 G

lal Caleiom Q
(b} Sodium @
()  Vanndium .~

A solution contains N0 g eclute i 180 g of}
salvent. If 7 @ JL 1 weter, what iz the

concentrati RN solution in terms of mass
by rna5$ 7

Magnesium 3

43,

L2320
10%
0 (d) 20w
EVWS-D-GNL (13-8B)

Which one of the fﬂ]]c-wing scholars of Aklar's
court translated Bhaskorocharya's Lilavad
into Persian 7

ﬁiﬁ Atmanzran K A

bl Falz
el Fathullah Shiram
fdl  Ataullah Rashidi

Whe among the following was the Chairman of
the Nationa! Commisgion for Review of the
Working of the Constitution (2000) 7

ia)  Justice M.N. Venkatachalinh

(b} Justice J 8, Verma
el Justice Ranganath Mishra
{dr  Justice Y.K. Sabharwal



485,

4,

47.

M.M. Ponchhi Commission on Céntre-State
Relations hps recommended the digpozal of a
bill peserved for the consideration of the Ulnion
Exerutive within

in}  four months.
b}  six months
o) eight months,
(dy five months

Who among the follewing funded the Marathi
newepaper "Resart 7

Lokmaonyn Tilnk
YWollrbhbhai Pt

ol

Lala Lajpat Rai

-'. Maheima Gandhi

Which mega puhblic undertaking ia |
designated with ‘Nevraing' statos ¥

RECTOT

48,

44,

i 5.

Which one of the following is the largest
linguistic group of India ?

laf Sino-Tibetan
ihy  Austric

(el Indo-Aryan
idy  Dravidian

Which ome of the f[ollowing wa
separates the Andaman and

islands Y 0

Al Gulfof Mannar
_/.“E;T Ten Depgres Ehanﬂ‘
el Eleven e i ]
idl  Palk Strg
Which on 1= following longitudes is the
stand ian of India 7

ta) Indiantkl Corporation Limited E
by Gas Authoricy of India Limited L
(e}  Bharat Petrolenm Corporation Limited @ BEEnT W
idy Bharat Electronica Limited iy B3RO W

Which of the fullowing statements wit@d
to the creation of a new state @ n of

bounderies of states is/sm mn&
l. An amendmsnut has "> red in the

BParlisment  unde J68 of the

Constitutisn of Ing
2 Eatifieation b
necessary aft

th®amendment 13 made

B pan e passed by @&
af  both Housez of
b rect afawer esing the oode Ei'r'L!I];I
d and 3 only I
1® 2 anly
| }  donly
| ) 2and 3 only
AVIWS-D-GHL '

O

a1,

Mateh List | with List 11 and select the correct
answer using the code given below the lists :

List I Lise IT
A Cyelones 1. Western Australia
H. Hurricanes 2. South Ching Sea
C.  Typhoona 4. Indian Oeean
I}, Willy-williea 4. Atlantic Ocean
Code:

A B C [ §]
(i 8 2 4 1
by 3 e 2 1
(e 1 4 Pl 3
dy 1 2 4 3



3.

P{.zfr’ 1,2 and 3

Which of the following isfare social security | 55.

achemplsh ¥
L Atal Pension Yojana

2. Pradhan Mantri
Yojana

4. Pradhan Mantri Suraksha Bima Yojana

Select the correct answer using the code Eiven
below ;

fay  1only
(b} 2and 3 only

Jeevan Jyotl Bima

(d)  1and 3 only

Which one of the following units is sot a part
of All India Radic’s Transeription snd
FProgramme Exchange Serviee ?

ta)  Central Archives

(b} Sound Archives 5&.

{c]  Advanced Research Unit
id)]  Tranecription Unit

Which of the following statements about the
Panchayati Raj Svetem gre correct 7

T, All seats in a Panchavat are fill

persons chosen by direct electi

2, The ‘Gram Ssbha' consists 2
registered in the village ‘

3 The Chairperson vat iz
elected in sicoord AW pazsed
by wach state,

4. All sfates @ have & three-tier
gyretem of P,

Solect the o wer weing the code given

balow :

ih} Q 3 only

nd 3 anly
Q 2, 3 and 4 only
ENVWE-D-GHL {17=8B)

a7.

Which of the following statements {sfare
correct ?

1 The elections to the Panchavat are
conducted by the State Election
Commission.

2.  The State Election Commissioner is
appointed by the Chief Election
Commissioner of India.

d.  The State Legislatures have the
to make laws on all matters rel

Panchavat elections,
Select the correct answer using tomvuu
below ; *
(s} Zonly
bl 1mnd 2only

i) 1, 2 and 3 @

d} 1 E.'I.'I.-I:| 3

Which ¢ following is nmot & correct
desor] gﬂu Union Cabinet ?

{al part of the Parliamont,

t iz responaible te the Parliament.

It remains in power till it enjoya the
confidence of the Parlioment,

() A person from outside the Parlimment
can never be appointed & member of the
Cabinet,

Which ene of the following statements about
the composition of the Parliament I nod
correct 7

lal  Representatives of the states in Rajya
Habha are elected directly by the peaple.

(b}  Representatives from Union Territories
in Lok Sabha are chesen by direct

elections,

(e} Hajya Sabha has 12 pominated
mett bers.

{d} Lok Sabha has seats reserved for SCs
and STs,



B8, Which among the Ollowing fundsmental G1.
rightsia/are available to non-citizens 7
1,  Freedom of apeech
- Protection against self-incrimination
o Freedom of conscienoe
il MNon-disorimination in  matters  of
emplavment &2
Select the correct ansvwer using the code given
below §
(a} 1,2and3only
(b} 1,2andd only
(2] 2anddonly
i3,
{dl Zonly
§8. Which one of the following statements abomt
the Vice-Presidant of India is mof correct 7
ta} Heis not eligible for ré-election |
(b} He must not be less than 35 vears
age. -/
fed Heis elected by members of ral
college consisting of me bath
Houzes of Parliament,
(d) His term of office } YEATE,
L 2
80. A motiop of oo % is moved against
(a) &n i%ﬁlinisum
(b t@ncz] af Mimisters.
@ Prime Minisier.
a political party.
HVWS-D-GMNL [18-B)}

Which one of the following tributaries of river
Indus feeds the canal system of the Bhakra
Mangal Project 7

fa} Chenab

(bl Satlu

izl  Ravi
_]fil_l Jhelum

When the rivers discharge their wators
oll directions into a lake or depre
patiern is Known ns

(al  Trellis R
by Dendotic

oy Radial

(dy Centripetal

i { ' flects the wind to the rit;"hr. direetion
n the sauthern hemiaphere.

It deflects the wind to the right direction

in the northern hemisphere.

Chronologically  arrange the following
treatiesfconventions signed betwesn  the
Marnthas und the British {starting with the
eariiest) :

L Treaty of Balbai

2 Treaty of Purandar

3. Copvention of Wadgaon

4,  Treatyof Surat

Saelect the correct answer using the code given
bl ¢

lal 4-2-3-1
L E R T B
[} I-3-2-4
i 1-2-3-4



i,

BT,

Henam_chnQ 3
JAal M& iin Malaviya
L

XVWSE-D-GMHL

Which of the following statements about the 65,

Sanynsi end Fagir disturbancea’raballions nre
correct

1 Governor-General  Warren  Hastings
faced the persistent Sanyasi and Fagir

disgturbances in Bengal and Bihar,

a There were 8 number of Shaivite Naga
|}
Sanyasis who formed into armed bands, |

3. Muajnu Shah, wha led bands into Bengal
from 1771, was their prominent leader,

Belect the correet answer using the sude given

balow ¢ B4,

{al land?only
b 1. Z3and3
el 2and 3anly

(d} 1am3only

In 1943, young lesders in which ona of the
following districts of Mahorashtra set up =
parallel Government with
volunteer corps (sepe daf2) and village unit

(ufan dode) o)
X
Q |

Who founded t »@I Hinda School at
Bennras wh.icﬁw ater developed into

reity ?

{prati  sarkar)

la}  Pune
(b}  Nasik
el Magpur
(dy Satara

oM Besant
hwar Chandra Vidyasagar
Madame H.P. Blavatsky

70,

(21-B)

Which one among the following Is mof &

feature of centralization ?

ie)  National anity
by Ulniformity
el Proaperty

(@) Liberty

*
Which one of the followin Aﬂ objective

of MITI Aayog ?

fak It itteal  direclion and

Nor development process.
‘think tank’ in

vighng kev elements of policy,

b hs A

monitors  and  evalustes  the

implementation of the programmes.
(d) It offers ‘a platform for resolution of

inter-state conflicts as ‘provider of firet

and lnst resert’,

Article 231 of the Constitution of India grants
power to establish a commen High Court for

two or more states to
sl the Pardiament,
)

fer  the President of Todin.

the Suprems Court.

id) the Union Cabinet,



71. Which one among the following motions |74. Which sne of the following is & type of igneous
cannol bo made while introducing an| ok ¥
ordinary Bill in the Parliament ?
{a}  That the Bill be taken into consideration ) - Murhiy
iby  That the Bill be circulated for the (b)  Halite
purpase of eliciting public opinion
(e That the Bill be referred to & Select tel Granite
Committes
: dl  Shale
id)  That the Bill b¢ referred to 8 Joint I' 0
Committee of the House without the o
corngurrence of the osther Houge *
T8, Ozone layer, which absorh a-violet
2. Which one among the following was radiation, is found in ono of the
et 5 th !
eliminated by the 44™ Amendment Act of the following layers of th are 7
Parliament 7
fa)  Right against Exploitation I lonosphepe
thd  Right to Constitutional Remedies M T j
[zl Right to Property Q
) & P-nhore
{dl"  Right to Education 3 3
! . stratesphere
73, Identify the crop on the basis of the following
characteristica &
L It is a kharif crop.
T8,  Which one of the following statements about
2. Aws, Aman and Boro are . primary waves of sarthquakes [s no# corgect ?
different growing pe BI
egricultural year. {a]  They are similar to sound waves.
3. About one-fourth @um Eropped
wren of India gs i cultivation. {b} They can travel only threugh solid
Select the correct zing the code given materials.
below ;
. le)  They travel through gaseous, liguid and
At Whe
solid materials,
{b)
fo @B-EE id} They move faster and are the first to
v $ Cittin arrive at the surfnee,
KV E-D-GHL (23-B)

(=)



7. Alluvial soils vary in natore from sandy loam Bl
bo-clay. Thiey are generally
{n) poorin potash and rich in phoaphorus.
thy  poor in both potash and phosphorus,
(¢l rich in both potash and phosphorus,
{d} rich in potash and poor in phosphorus,
T8, Who among the following was popularly
known as ‘Lekshitwadi' 7
() Gopal Hari Deshmukh
(b} Mahadev Govind Ranade
&) Gopsl Ershne Gokhale e
{dl  Jrotiba Phule
78, Who among the following socinlist activists
persuaded Gandhiyn mof to restrict the aalt
march protest to men alone 7
{a] Kamaladevi Chattopadhyay %
(b  Bargjini Naidu &@
fel  Matanging Hazra @
(d) Mithuben Petit Qb
80. Which one of @'in\g painters was | .
not associnted \ﬁ ayon 7
(wl m@ﬁ
8.3 @141 Dost Muesawir
1 aulens ¥oguf
C’ Bihzad
XVIWS-D-GNL [25-B)

Identify the type of Boil on the basis of the

given characteristics ;

1. They are rich in lime, iron, magnesia
and alumina,

&=

They are generally clayey, deep and
impermeable.

4.  They are mainly found in Maharashtr:

Madhya Pradesh and Gujarat.
%)

Select the correct mnswer from
alternatives |

(al Lateritesoll *
bl Bed and vellow soil
ie) Baline soil
idl Black soil @
Arnbica, Hol Liberica are varictios of
)
{b)

gercane

Cotion

Aluminium is manufactured from

4}  Copper ore
(b Bauxite ore
e Mica ore

Manganese ore

,iﬂ]

Which onwe of the following ses portz gained
significance for handling iron-ore exports to

divpan 7

{al Eandla

ibl  Ennore

(e}  Kochi

id) Mormugao



85, Which one of the following is not a function of | 89,

money 7

{a) Actz as an intermediate in the exchange
[Rlgale i

bl Acte a8 a atore of valoe

te}  Used as the unit of account

)  Used for regulating consumption

90,
B6. The situntion where the equilibrium level of
real GDF falls short of potential GDP is
known as

fa}, Heeessonary gap

(b} Inflationary gap

fel  Demand-side inflation

td)  Sopply-side inflation

5 821,
B7. The excess of total expenditure of Covernment
over its total receipts, uxcluding borrowings, is
known as

(m} Primary deficit

(b}  Fiscal deficit

e} Current deficit

id} Capital deficit

88, Exchange rates state the value of on u&;

in terme of other currencies, Which f

following statements with ges the

exchange rate of currency is

fa)  Floating exchange gt rates in
which the Gov interfere by [BE.
buying or 3511' . nCies

{b) PFixed exch : are rates set hy
Governmeg i#ions and maintained
by Gove: t actions

£ le retton Woods System, the

rates are floated in terms of |
A fell in price of gold.

{Qnder the classicnl gold standard, the
xchange rates are fixed in terms of
price of dollar,

VWS-DLGML (2T —B)

Frangois Bernier was phyeician to
(@} Prince Murad

(b  Princess Jahanara

te}  Emperor Shah Jahan

id}  Prinee Dara Shikoh

Which one of the following British firm
taken over by Svorajmull-Nagarmull

(al McLeod O

(b Octavius Steel S
fel Davenpart

fd) And.rew'!ﬁ:h‘:e

Which one of ’ lowing statements with
regand to r@ settlement ia mod correct 7
ta) ern and western India, the

i settlement was adopted,

otwari was in peinciple a direct
contract Between the ryvot and the state.

¢} It means a tax contract valid for usually
S0 years

id) In principle, it strengthened the fermer
elite, the gamindars and weakened the
peasantry,

Which one of the following statements about
the British Indian Medical Service (IMS) i3
mod correct T

{a)  IMS began in 1764,

thy It recruited health professionals by
means of a competitive examination.

il Indians were never admitted to IMS,

{d) The IMS3 was at firat meant to look after
the troops,

=g



88. Which of the following statements regarding

33  When was the monopaly of China trade lost by J g7,

Eazst Indin Company 7

fa} 1813
(b) 1833
1l 1835
(d) 1860

94. MNational Diaaster Managoment Authority is
headed by

fa)  the Prime Minister
{b]  the Home Minister.
(e)  the President.

(1) the Heslth Minister,

the ‘easting wvote' in the Parliament is‘mre
coreect T

1. It is cast by the speaker or 4 person
pcting as such,

2. It is cast in addition to voting in the firat |

instance.
3.  Itiscast in the case of equality of votes.

4. It is always cast to maintain the status
{quo,

(&) 1,2 pand3 only
(bl 1and3 dnly
fc) - Zand 4 only
td) 3 only

qu.ElJ protection of
erritory of Indis ig

3, Eguality before lh
the laws mth'n& i
guarantesd . ith one of the fallowing
Articles o titttion of Indip 7
fal it )
i e 10
icle 16

Q Article 22

IWVWS-D-GHL
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Select the correct answer using the code iy
below &

TR,

B)

"Logal Positiviem' theory was developed by
i8] T.H.: Gresn

(b}  Thomas Hobbes

(o} John Anstin

id}  Patrick Devlin

Who among the following snid that D

meane a system of ‘Government: by G
fal  John Locke ¢

tht J.B Mill

te)  Jeremy Be @

fd) Jak Hl.mﬁ;b

Milpa ang ure different names for
1 igg %mg cultivation.

mixed furming.

el truck firming.

id}  plantation agriculture,

Which one of the fllowing approaches of
human development was initinlly proposed by
the International Labour Organisation (ILO)
und emphagised on health, education, food,
wiiter supply, sanitation and housing ?

(i}  Welfare approach
(b} Basic needz approach
[l.'.':l I:I'.l.l:.'l:ll'hﬂ' ﬁppﬂ.:ll'l.t'h

{dl  Capability approach



101. Which one of the following statements is
not correct ?

{al HReal GDF ia calealated by vaoluing
outputs of different years at common
prices,

Potential GDP iz the real GDP that the

economy would produce if its resources

thy

were fully employed,

{c) Nominal GDP iz calenloted by veluing
outputs of different years st conestant

prices,

(d) Real GDP per capita is the ratio of real

GDP divided by population
L02. The mismatch in the regional or occupational
pattern of job vacancies and the pattern of

worker availability results in

(] Btructural unemployment

{b)  Digguised unemployment

(e} Altered unemployment

(d} Cyclical unsmplovment

&

slowly along “'iﬂ!l‘ﬁ'p- on (rising price

lewvel) is ealled Q
4 . “

la) Sta

(03, The situation in an seonowd

ik}

el

')

WAWE-D-GENL

Receasion

(31

104, The increase in private investmont epending
induced by increase Government
spending iz known as

the in

{a)  Crowding in

() Deficit inancing
(e} Crowding out
(d)  Pumping out

105. The asset or assets that a borrower pledgf
prder Lo puarantes repayment of a
called as '

{a)  Cheqgus *’
(b} Cellateral

¢l Guarantoee I:M'd@

id} Bond é

1068, The percenfuy which the money the
borrower, k exceeds the money that

'E called ng

ominal interest rate

Heal interest rate

() Terms of cradit

(107. Which one of the following statements about
tho Gandhi-lrwin Pact of 1931 is correct 7

(@) The

thoze  prisoners
non-vinlent,

Government would not  release

who had been

(b} The Government would not rolease
those prisonera who had indulged in the
peaceful pickoting of liquor and foreign

cloth shops:

The Congress did not agree to the
suspension of the Civil Dizobedience
Movement.

{e]

id) The Congress agreed to take part in the

Second Round Table Conferenca.

-8



10B. Who among the following founded the Bhil

108,

1160,

0 The glaves becsme the owners of the
land.

XVAWS-D-GNL (33-8B)

Beva Mandal in 19227

(a)  Dawaram Cidumal

(hi  Gurasaday Dhatt
fel  Dhonde Keshay Karees
{d}y  Armritlal Vithaldas Thakkar

In 1911, who amang the following intreduced a
bill in the Imperial Lagisiative Council for
introduction of compuleory and free primary |

education in India 7

(al Dadabhai Maoroj

{b)  Bal Gangadhar Tilak
(e}l Bir Harcourt Butler
(d)  Gopal Krishna Golhals

Which ong of the following statements

the Act ¥V of 1843 relating to Blave& 1
i# correct T

ad It gave the masbers to wilfully
keep their slaves § ir pxlates,
(b} It denied @rﬁ the use of Courts

o mesert § me on glaves.

ourts pnd measters workesd

resolving . the cases of
TLiOmn.

111, Which Marstha statesman signed the Treaty
of Bagsein on December 31, 1803 7
()  DBaji Rao I
(b} Vithuji Holkar
(¢} Daulat Bap Sindhia
(d} Madhava Rao Narayan O
1125 The Amora-Neyebae syste ®a major
political innovation of PMeh imperial
rulers T 0
(#} Cholas
(] 'Ch.[:

|.

L]
%ﬂmnmmm

3: KIRAN (Enowledge Involvement in Research

O

Advancement through Nurturing) i an

initiative to provide opportunities to women

scientiste whn

ig)  had a break in their career due to family
TEAETIE.

(b}, are pursuing innovative rezearch in 1ifo
sEienCes,

{e} have collaborative projects with Iabs in
foreign countries,

id) have leading edge projects  in

Nani=Saionoe and Technology,



5 an umbrofla scheme for

114. NIDHI

pramotion of

(a} - young and aspiring innovators,
bl - scientific research.

2] pramary health care,

id)  primary edoucation in rural areas.

115. The Saubhagya Scheme aims ol anivarsal

(a} LPGconnestion.

(b1 household elertrficabon.
{er  primary school eduention
id) public health insurance

118. Mission Indradhanush airme at

@) reducing child deaths due to pnf-um-nni_
ibl  reducing the tmpact of rotavirus
L[]

-.!:‘jj'l

fell smmamisrtion L-Eh.@

117. Which one of the

the DDU - u@w@ Fraek e
Q RININE PrOETAMITE,

fal Ttie

TH

ohjective i5 plecement

emplayment,

elimination of macernal w@

- etatements about

ural youth from poor families,

in  wage

O'd] It relies entirely on skill training by

Givernment agenciae.

W S-D-GNL

Which of the fllowing statements about the
Pradhan Mantri Gram Sadsk Yojana are

correct

1 It i& parl of Govermment of India’s

poverty reduction strategy,

o It is a centrally rponsored U

A 'ngumas.
*

he epde given

rural development.,

i It provides connectivit

Select the correct ang

el
;A'f 1, 2an
by 1
icl o only

%‘E and 2 only

1™ Indin's territorial limit estonds towards the

120,

{35 -B )

BER Up Lis
fad 10 nautical miles

(hi 12 naotical miles

el 14 nautical miles

{dI 15 nautical miles

Which one of the following is a cold oeean
gurrent 7

(g}  Bragilian Current

(bl Gulf Stream

el North Eguatorial Current

A

California Curront



